(> Eqn: Sy/A2- 2% y=xA3+42% XA242% X +3;
i Eqn:=y2—2y=x3—|-2x2+2x+3 1)
> with(plots):

> A=inplicitplot(Egn, x=-3..3,y=-4..1, col or =bl ack, t hi ckness=2);
i A:=PLOT(...) 2
[ > wit h(DEt ool s):

> DIiffEQ: =2*(y(x)-1)*di ff(y(x), x)=3*x"2+4*x+2;

DiffEq:=2 (y(x) — 1) (%y(x))=3x2+4x+2 3)
=> B: =DEpl ot (Di ff Eq, y(X), x=-3..3,y=-4..2);
B:=PLOT(...) 4

=> di splay({A B});
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(> EQn2: =1-sqrt ( xA3+2* xA2+2% x+4) ;

i Eqn2=1—JxX+2>+2x+4 ()
> C: =plot(Egn2,x=-3..3,y=-4..2);
C:=PLOT(...) (6)

[ > pl oot (XA3+2*xA2+2% x+4, X=-3. . 3) ;
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